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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions (any ten) :
1x10=10
Ood 2PCAd Tas fr (R reen ) -
(a) What is ordinal utility?
TS Sofcarfore f 2

(b) State the law of equimarginal utility.
e Tecaiarel Rideh Teay w4 |

(c) Define indifference map.
fAaeors (@9 Tfoas iR g |
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(@)

(e)

(g

)

)

0

(k)
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(2)

What is the marginal rate of substitution
between two perfectly complementary
goods?

o1 o “ifioEs A cvae AFe AT 9
LEER:

What is substitution effect?

Sy R 92

Mention the ‘Giffen paradox’.
e 22’01 Ty 79

What is meant by production?

TN T & @ 2

Give one example of implicit cost.

AP IR GO] THrA 7T |

What is meant by a person be risk lover?
A & =15 TS A0 F @ 2

Why is the long-run average cost curve
U-shaped?

TLFTAN 51T I @I U-S5feq oy =3 0

What is iso-cost line?

TR @91 F 2

( Continued )

()

(m)

(n)

(o)

(p)

(@

(r)

A23/178

(3)

How do you calculate the marginal rate of
technical substitution?

aifys feere AT T ofi @ STl
a2

Draw an isoquant curve for perfect
complements of factors.

opf Ao T GO A -TRATT (I A
411

Mention one important Treason for
decreasing returns to scale.

SR BeeAT W b1 gy FRT SCE
0|

Define variable factors.

SfRqETNE o= e A |

What are iso-utility curves?
S-Teraer @AIPEE & 2

Why is average revenue curve of a firm
under perfect competition horizontal?

o AfeCaPrenEs IWEE AfTHH GO TS W
@1 P e 2w 2

Why are selling costs not incurred in
perfect competition?

ol efcarfPromgers Tes RE T [y 740 720 2

{ Turn Over )



2. Write short answers of the following questions
(any five) :

(4)

word oaRE 5 TR fr (R e oAb)

(a) What is meant by the slope of an iso-cost

(b)

(c)

(d)

(e)

A23/178

line?

SRR (@R TR Ol WA & @ 2

Distinguish between gross demand and
net demand.

b BIE A* W% B2 qere A1 f~efT 347 |

Can we apply the law of diminishing
marginal utility to money? Give reason.
FErEE 4fFe Tawire Rfwh Wi @R
RIS ATF1e AR A 2 Y fran |

State Slutsky’s equation.

55T FTEATCH TeEY T4

If B=x-P,+y P, where B represents
money income of the consumer, P, and
P, represent prices of goods x and y
respectively, find the slope of the

equation.

1 B=x-P, +y P, W, T BT A TGN
W, P, W¥ P, T FE x TE y H99 79,
HFATER T e |

( Continued )

2x5=10

(5)

() Show that average cost is the
combination of average fixed cost and

average variable cost.
m{@m%mz’a%&awwm

offiqéemrel I CATE |
(g) What is strong ordering?
et &4 7
(h) Distinguish between risk-averter and
risk-neutral individuals.
e -SfEE E - R fes e
sfefay e 40 |
(i) State the two conditions for equilibrium
of firm under perfect competition.
o efecafErerme T8O oAfSPTe ST 58
751 TCEY 41 |

() What is a marginal firm?

offee feem 7

3. Answer the following questions (any four :
5x4=20

o 2prarad T i (R e IfaD1)

(a) Briefly explain the principle of
diminishing marginal rate of
substitution. What role does it play in
shaping indifference curves? 3+2=5
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(6)

FEPEE ofee dfeen TW MO I
41 | PR @91 o6 iR owae 3 SR

MIGEISIS

(bp) What is income-consumption curve?
Derive income-consumption curve for
normal goods. 1+4=5
gR-Teige @91 B2 FER® TN SR-
Tofgerel (qTOTe HZIT 97 |

(c) Explain the revealed preference
hypothesis. 5
2] TR AFHCO! T T |

(d) Fill in the blanks in the table below :

1+1+1+2=5
o OIfEPIE <1l SIRCIR 2R T :
Output Total Total Total Ave A
Zeopy | cost (T) fixed variable _l;irrecg]e u::i;igz
7 cost (€) cost (¥) cost (¥) cost (¥)
mGw) | PRI | P oA | TSR | 76 ARIETT
@) | W w (Ga) | (5e)
0 50 — — — —
1 70 — — — —
2 100 — . — — ]
3 120 — — = —
4 135 = — _
5 150 — — = -
6 160 — . — -
7 165 — — — —
A23/178
/ { Continued )

(e)

(g)

(h)

(7)

Examine the following data on outputs
and inputs. What type of returns 0
scale does it represent and why? Give
arguments : 2+3=5

Wﬁmmwwuﬁaﬁ@wo@w
W:%««EQWWEW@W
e 5 7 3fe f -

Labour (4) (L)| Outpul (Berm) (Q)
8 3

Iy

Capital (77%) (K)
5

16 6

12

10
20 32

40 64 24

" 4

expansion path? Derive

the help of diagram.
1+4=3

What is
expansion path with

sreepTRel <% 3 7 foad e TREPTE oj2] G2
el

Derive average fixed cost curve from total

fixed cost curve.
@ﬁqwmﬁwm&am@mu@q
47 |

o)

m under perfect competition

Can a fir
is

operate in the short-run when it
making losses? If so, explain the
condition with the help of diagram. 1+4=5

( Turn Over )
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of efafirerEs Jwd FFeEe 9ol elfedia
@RS RN 278 Teorw IR bR R
N ? W oM, (oo RERS0 Paw =R
7471 341 |

4. Answer the following questions (any four) :
10x4=40
T PR Tal (R @ wifEnt)

(a) With .the help of indifference curve
analysis, derive individual and market
demand curve. 6+4=10
faeems @ Romr sere Ife sitm @ e
I BIfEA @1 I 4 |

(b) E?xpl‘_eu'n Slutsky substitution effect for a
rise in price and for a fall in price.

5+5=10

T % T T 2P (TS e afeww Rerrs
RISHESIN

(c) Whgt is meant by inter-temporal
choice? Explain inter-temporal choice of
consumption. 2+8=10
IR I B S - e b
SFSAIYMNS A2H < F41 |

A23/178
( Continued )

(9)

(d) State and prove Samuelson’s

(e)

A23/178

fundamental theorem of demand.
Mention any two limitations of the
theorem. 8+2=10

(P (T SR g SCEy F9 AE
o 9 | wghT e o Smel S

91|

What are the assumptions of N-M utility
function? How can N-M utility index be
constructed to explain the choices by an
individual under risky and uncertain
situations? Explain. 2+8=10
N-M Seafire werm sfeureeriz f 7 -
wer wF Sfeerel ARfEEe afer ofzw A
R N-M Sl [P @A e I

o3 2 T <4 |

State the law of diminishing returns.
Why do diminishing returns to a variable
input occur eventually? Can they become
negative? If so, why? 4+3+2+1=10
e Ser RfRET Ee 90 i)
ARSI TR (TS SRR DA
SEeEe R T R WIS 298 A 7 T
oNIea, 97
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( 10 ) ( 11 )

(g9 What are increasing returns to scale? () Distinguish between market price and
Show them on an isoquant map. Explain normal price. Explain the determination
the causes of increasing returns to scale. of market price in the very short period
1+5+4=10 under perfect competition. 4+6=10
T Teqmel il 2 SW-Teoqw Jefdae G T HE FOE 7= Tere Aol ey o |
FAS (7Y | FAHT TeoAe TR PRI o AfecatonE TwRe W ZFeETe TET ™
IR0 40 fefiaer aifm amam |

(h) Define marginal cost. How is it related to
marginal product of a factor? As output
is increased, marginal cost first falls and
then beyond a certain point it rises. How
would you explain it? 1+5+4=10

o awE Fe@ frn g @b TR 1S
BT WS A (AP TS R ?
TeoAm @S I o7, dIf¥e A A0S I AW
e g5 FfME ReE Prre 2 3 A1 e i
(FCICA AT AT ?

(i) What is meant by firm’s equilibrium?
Explain how a firm arrives in equilibrium
in the short-run. 2+8=10

Af B ST A F @ 2 TS 2fShE
G513 (FCATCA SIOTH] ATS ¢, AN 47 |
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